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QUESTION 1

Which two statements are true about elements in a WSDL document? (Choose two.) 

A. Operation is an abstract set of port types supported by one or more endpoints. 

B. Service is an abstract set of operations supported by one or more endpoints. 

C. Message is an abstract description of an action supported by the service. 

D. Operation is an abstract description of an action supported by the service. 

E. Binding is a single endpoint defined as a combination of an operation and a network address. 

F. Message is an abstract, typed definition of the data being communicated. 

Correct Answer: DF 

 

 

QUESTION 2

A developer is asked to consult on a Web services project and assist the team with a good design approach on a new
project. The team members disagree on whether to use WSDL or Java first. Several members are skilled with XML and
see a schema and WSDL as the correct place to start. The team has also learned the deadline for this project has been
moved up and another team plans to reuse their code. Which statement is true about the proper course of action to take
in this situation? 

A. Java should be used first because it is a strongly typed language and will result in a robust WSDL. 

B. WSDL should be used first because it will make the code easier to reuse for the other team. 

C. Java should be used first because it is often the fastest and easiest approach. 

D. WSDL should be used first because the team knows XML Schema. 

Correct Answer: C 

 

QUESTION 3

When a SOAP envelope is optimized on the wire, the following can be said about the optimized infoset : (Choose one)
A. optimized infoset contains xop:Include elements with href attribute pointing to attachment data 

B. optimized infoset contains mtom:Import with location attribute pointing to attachment data 

C. optimized infoset doesn\\'t have any specific elements for MIME attachment. 

D. optimzed infoset\\'s element contain cid:Content-ID as the text and Content-ID refers to the associated attachment 

Correct Answer: A 
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QUESTION 4

Choose three ways to enable MTOM on a web service endpoint deployed in an EE container ? (Choose three) 

A. enabled by the container automatically 

B. by specifying @MTOM annotation on the endpoint\\'s class 

C. by specifying in webservices.xml deployment descriptor 

D. by specifying a wsoma:MTOM policy in WSDLE. by specifying element in sun- jaxws.xml 

Correct Answer: BCD 

 

QUESTION 5

When a SOAP envelope is optimized on the wire, the following can be said about the optimized infoset : (Choose one) 

A. optimized infoset contains xop:Include elements with href attribute pointing to attachment data 

B. optimized infoset contains mtom:Import with location attribute pointing to attachment data 

C. optimized infoset doesn\\'t have any specific elements for MIME attachment. 

D. optimzed infoset\\'s element contain cid:Content-ID as the text and Content-ID refers to the associated attachment 

Correct Answer: A 
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